Questin - 1% A spheve has center m the fived octant and

Quet 17 . Te Jcomaevx{ to each of +the +hrvee coovdinate

plomes . The dustomce from the o¥igin to Lhe < phere

1S 3-J3 units. Whed is the equation of +the cphere P

&_1)1“. Lt P (%0, ¥,%) and ¥ denote the center agnd

vadius of +the spheve s vespectively. 2

Tn ovdexy for s 4o be tamaev\{ to the 2y -plame . ikhe

distonce 1z,] from P(>0,Y,, %) 4o the ny-plane wmust

equal ¥ . Since P ("0,¥,,%) is in the fivst octant |
we Conclude that =z = |%2] =¥ .

Shmilovly % = M, =¥ and ‘the centevy of ¢ ;g
i v v

Trevefore the dictomce Hom the ovigin b the Cewter Prvyryy

of ¢ is = \]'{z—sz{_YL = 43 %
Griven ot the distance Prom ovigin to the spheve S
i - 3 - =5 —_\JE(J?)_Q wind 1

Wiile +he dictance Hom oxgine to Sphere § §s = Y3 _
—AL2)

Equedivg (19 & (29 giver (J3-1)¥ = J3 {3 ) :)@

TK(TQ‘FMQ +the oovdinakes of e center Py y)= P(\J':.‘JE,\)E)
o Q%’\, of spheve & (-3 )L‘rkv—ﬁ)z-kkz-ﬂ )L: <
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